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( B )5. There was a bamboo standing straight in a pool. There was % of

the bamboo in the water and took it out. The bamboo has inverted to

stand in the water. As a result, no water part is 150 cm, then how deep
the pool was? (A)420 (B)450 (C)480 (D)490 cm
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(A )I10. There is a road which is x km. Angela walks from east to west and
the speed is 85 m/min. Paul walks from west to east and the speed is
100 m/min. After 15 minutes, they will meet on the road. What is
the length of th road? (A)2.775 (B)2.83 (C)2.96 (D)3.15km
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( C )15. How many months in a year does it have five Mondays at most?
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1. Peter and Ariel invite their classmates to join the birthday party. They buy
15 sets food which hamburger set is $109 and pizza set is $120, to eat with
classmates. As they checkout, Peter calculates the expense that is $1701.
Ariel calculates the expense that is $1733. But someone is wrong, you can
explain whom calculates wrong. How many set of the hamburger set and
pizza set do they buy each?
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